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YEAR ANNUAL RETURN )
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Example: 03

Probability

0.25 25
0.30 15
0.20 10
0.25 S

Calculation expected return and risk of single stock.
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Question: 01

A stock costing X 120 pays no dividends. The possible
prices that the stock might sell for at the end of the year
with the respective probabilities are :

Price Probability
115 0.1
120 0.1
125 0.2
130 0.3
135 0.2
140 0.1
Required:

(1) Calculate the expected return.

(i1) Calculate the Standard deviation of returns.
(Study Material & PM)
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Example: 04
YEAR STOCK X STOCK Y

1 30% 14%

L 25% 8%

3 20% 12%

4 15% 16%

S 10% 20%
Calculate:

i) Expected Return of X and Y

ii)) Standard Deviation of X and Y

S

111) Covariance X and Y
e

1v) Correlation X and Y
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Example — 05

Probability | STOCK | STOCK
X Y

0.3 20% -2%

0.4 15% 10%

0.2 -5% 20%

0.1 10% 5%
Calculate:

(1) Expected Return of X and Y
(11 Standard Deviation of X and Y
(111) Covariance X and Y

(1v) Correlation X and Y

(Page No. 04)
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7\ Example: 06

x L]

Summer . 30% 10%
Winter ) 10% 40%

Calculate:

(1 Expected return of each stock.
(11) Standard deviation of each stock.

(111) Correlation between Ice-Cream and Woolen Clothes.

(iv) If we invest 60% in Ice-Cream and 40% in woolen
clothes calculate expected return and standard
gtion of portfolio.



Example: 07
@ Stock A
.Expected Return 20%
Standard Deviation 10%
Weight of A = 70%
Weight of B = 30%
Correlation between A and B = 0.35
Calculate:

(i Expected return of portfolio.

(ii) Standard deviation of portfolio.

Stock B
15%
8%
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Example - 09

Stock A Stock B
Expected Return 30% 20%
Standard Deviation 20% 5%

Correlation between A & B = -1 (Perfect Negative)

Calculate expected return and standard Deviation of
portfolio if we invest 60% in stock A and 40% in stock B.
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Example - 10

Stock A Stock B

Expected Return

Standard Deviation
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Example - 11 C2 9& COMQIO.DG\ geh»wn fwo

Stock A Stock B > m t
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Question: 09
The historical rates of return of two securities over the past ten
years are given. Calculate the Covariance and the Correlation

coefficient of the two securities: C—
Years: | 1 [2/3/4[5[6[7]8]|9] 10
Security 1 12 8 7 14 16 15 18 20 16 22
(Return per cent)

Security 2: 20 22 24 18 15 20 24 25 22 20

(Return per ceg

(Study Material & PM)



Question: 10

Calculate the Covariance & Correlation Coefficient of the two
securities, from the historical rates of return over the past 10
years.

Years | 1 [2]/3[4/5/6[7]|8[9 /10
Security 1 15 10 12 8 18 16 20 24 16 14
(Return %)

Security 2 24 20 18 14 22 26 12 28 16 15

(Return %)






ymﬁle - 12
Stock A Stock B Stock C

Expected Returny/” 11% 15% 25%
Standard Deviatio 5% 10% 12%
Weights v’ 0.6 0.3 0.1
Correlation between A & B = Q._I_S

—

Correlation between A & C = 9;45

Correlation between B & C = _[_)_? O

Expected return and risk of portfolio.



Question: 02 l

Consider the following information on ‘wtncka,‘}iand Y.

e 2o o

Return on X (%) WO 16
ERT Return on Y (%) §6/* 12 18

You are required to calculate:

(] The expected returpeg a p © containing X and Y @ EE (_A'Kfﬂ*)"’(sﬂeﬁw B)

in the proportion 0 o respectively.

6 {)
(i) The Standard Deviation of return from each of the two |3X‘0 le)f(g

stocks. = ][I 2%
(iii) The Covariance of returns from the two stocks. ° A
- 3%, Y° 8

(iv)] The Correlation coefficient between the returns of the @
C’av 9 (‘
(v) The risk of sortfolig ﬂntalmng X and Y in the

two stocks.
roportion © !@
p p
(Study MateTal, PM & Exam May - 2018)
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Question: 03

purpose. The risk return profile of these securities are as

follows :
Security Expected Return (ER)
T
B 12%6
D 20%

Co-efficient of correlation between B and D 1s 0.15.

You are required to calculate the portfolio return of the
following portfolios of B and D to be considered by A for
his investment.

(i) 100 percent investment in@anly;

(i1) S0 percent of the fund in B and the rest SO percent in
D;

(i1i)) 75 percent of the fund in B and the rest 25 percent in
D;and

(iv) 100 percent investment in D only.

Also indicate that which portfolio is best for him from risk
as well as return point of view?
(Study Material & PM)
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Question: 05
Mayuri 1s interested to construct a Portfolio of Securities X
and Y. She has collected the following information:

| x | Y

Expected Return (R) 19% 23%
Risk (o) 14% 18%

Mayuri has 5 Portfolio options of X and Y as follows:
1) 50% of funds in each X and Y

1) 75% of funds in X and 25% in Y

1i1) 25% of funds in X and 75% in Y

(iv) 60% of funds in X and 40% in Y

(v) 35% of funds in X and 65% in' Y

Suppose if Co-efficient of correlation (r) between X and Y is
0.16, you are required to calculate:

(i Expected Return under different Portfolio Options.
(i) Risk Factor associated with these Portfolio Options.

1ii) Which Portfolio is best from the point of view

Whlch Portfolio is best from the point of view of

-'[RTP May - 2022 Q%Exam November - 2020)



Question: 04
An investor has decided to invest to invest ¥ 1,00,0Q¢ in

the shares of two companies, namely, an he

projection of returns from the shares of the two companies
along with their probabilities are as follows:

ABC (%) XYZ (%)
16

.20 12

) 25 14 10
29 -7 28
.30 28 -2

You are required to

(i}@ on freturn\ and @ of investment in __
jﬂﬁ&{z}’z Sﬁ(ﬂ‘l* Tnvest “ 1nd1v1du shares. | B O_S— * 6.\

I portilie fecause e
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Question: 06
Ramesh has identified stocks of two companies A and B

having good investment potential:
Following data 1s available for these stocks:

L Year | A (Market Price per | B (Market Price per
wd‘\ Share in X) Share in X)
Gb 2013

19.60 8.70
2014 18.75 12.80
2015 33.42 16.20
2016 42.64 18.25 \Q")
2017 43.25 15.60

2018 44.60 13.25

H / = 2019 34.75 18.60

You are required to calculate:

1) The Risk and Return by investing in Stock A and B

1) The Risk and Return by investing in a portfolio of
these Stocks 1f he invests in Stock A and B 1n
proportion of 6 : 4.

(111) The bette] opportunity for investment
(Exam January - 2021)
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! Euestinn: 07 l
ollowing is the data regarding six securities:

— [AlB|C|D|E|F " ey D is

Return (%) 8 8 12 4 9 8 p
Risk (Standard deviation) 4 5 12 4 5 6 ’ne6‘7dpnt gem.fp

/® Assumiill have to Pe selected, state which ones . ¢
_ will be pNKec -M ( ‘h) ﬁCM}& A ﬁ*m\ﬂ‘fﬁé
| gﬁ | -
@ Assuming perfect\correlation ow whether i1t 1s preferable
to invest}75% in and(}r to invest 100% 1in E (_M I‘M

(Study Material & PM)
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Question: 08

Following is the data regarding six securities:

Return (%) 10 10 15 11
Risk (%) (Standard Deviation) S 6 13 5 6 7

() Recommend at least three securities which shall be selected
among the six securities mentioned above.

(1) Assuming 6erfect cnrrelatjna evaluate whether it is
e ———

preferable to invest 80% in security U and 20% in security W

to invest 100% in Y.
(MTP: Mar - 2018)
| (Page No.16)




Question: 50
X Co., Ltd.,

investedf on 1.4.2009 in certain equity shares as

below:
Name of Co.
M Ltd. 1 00 100 each) 2,00,000
N Ltd. 500 (X 10 each) 1,50,000

In September, 2009, 10% dividend was paid out by M Ltd. and in
October, 2009, 30% dividend paid out by N Ltd. On 31.3.2010
* market quotations showed a value of X 220 and X 290 per share

fﬂI‘ M Ltd. and N Ltd. respectively.
On 1.4.2010, investment advlsﬂrs # (a) that the dividends
from H Ptd. and N Ltd. for the yeal fAing 31.3.2011 are likely

to be 20% and 35%, respectively and (b) that the probabilities of
market quotations on 31.3.2011 gre=asqbeclow:

ot
Probability factor Price/saare of M L :d. | Price/share of N Ltd
0.2 220 290

0.5 250 310/
0.3 280 330 e~

You, are required to:

Calculate the average return from the portfolio for the year

nded 31.3.2010
Mjeﬂculate the expected average return from the portfolio for

e year 2010-11; and
1) Advise X sdmeelatd., of the comparative risk in the two

investments by calculating the standard deviation in each
case.

(Study Material & PM)
(Page No. 83)
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Question: 47

Following information i1s available in respe of (expeDyed

dividend, market price and market conditig

Market Probability Dividend per
condition

z
Good 0.25 @/ T
NDI‘IIIE.‘ 0.50 1074 5N
Bad 0.25 97— 3 I\ @

G‘he existing market price of an equity share isi—’s 10_6‘13‘.\}. X 1),
which 1s cum 10% bonus debenture of X 6 each, per share. M/s.

X Finance Company Ltd. had offered the buy-back of debentures
at face value.

.Fin_d out thegexpected return and variability of returns of the
equity sharedlif buyback offer is accepted by the investor.

And also advise-Whether to accept buy-back offer?
(Study Material & PM)

(Page No.79)




CoJoulakion o BR4 S-0.

SO 9
05131 |6
0-50 | 2 G C O

0350 |o [|1% |=g ER = 1294




. gk Yield ok §'.m'nlwt 4eboerniure
i3 Mort than (6% then
nvestod should focept

e % Bad{ oFFER




Question: 49

Suppose that economy A is growing rapidly and you are

managing a global equity fund and so far yuu@ed only
in developed-country stocks only. Now you have decided to add
stocks of economy A to your portfolio. The table below shows the
expected rates of return, standard deviations, and correlation
coefficients (all estimates are for aggregate

e e —
developed countries and stock markei-ad-hc ol

Devele .ed Stocks of
Y ¢ e
Expected rate of return @
(annualized percentage)

Risk [Annualized -

Standard Deviation (%)] ' 35 t.\
Correlation Coefficient (p) @ ’ ‘ﬁ —

of

Assuming the risk-free interest rate to ¥ you are required to
determjge:
hat |percenta yvour) portfglig_should you allocate to

stocks of Economy A1l you
—— .
eturn on your portfolio

s Crease the expected
rate é

[ w "
m
|

tandard ®deviation of\your portfoli
assuming are included i
portfolio as'calculated above? =

(c) @ show how well the Fund will bfl::-r the

undertaken due to inclusion of stocks of Economy A in
the portfolio?

hat will be the

(Study Material & PM)
(Page No.82)
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Example: 19
Risk free rate = 6%

Market rate of return = 10% l/-
Beta of Reliance = 1.5

Calculate expected return as per CAPM.

@ (Page No.



Example: 20

Risk free rate = 5%
Market rate of return = 12%
Beta of portfolio =1.75

alculate required return of portfolio.

(Page No0.59)
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fstinn: 14
distribution of return c@ and the market portfolio
given below:

Probability Return %

F P
0.30 30 -10
0.40 20 20
0.30 0 30

You are required to calculate the eercted refurn of security F’
and the market portfolio ‘P’, the covariance between the market

portfolio and security and beta for the securifg,
(Study Material & PM)
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Question: 15
Given below is information of market rates of Returns and Data
from two Companies A and B:

| Year 2007 | Year 2008 Year 3009

Market (%) 12.0 11.0
Company A (%) 13.0 11.5 9.8
Company B (%) 11.0 10.5 9.5

You are required to determine the beta coefficients of the shares
of Company A and Company B.

(Study Material & PM)
(Page No.27)
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Question: 19

Mr. Gupta 1s considering investment in the shares of R. Ltd. He

has the following expectations of return on the stock and the
market:

| Retum (%
Probability
30 25

0.35

0.30 25 20
0.15 40 30
0.20 20 10

You are required to:

(1) Calculate the expected return, variance and standard
_ — p—
deviation for R. Ltd.

(11) Calculate the expected return variance and standard
. . —
deviation for the market.

(111) Find out the beta co-efficient for R. Ltd. shares.

EE—
xam November - 2018)

(Page No.34)
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pdmple: 15 0" ! - E
Suppose there are four stocks is a portfolio @ C CM‘{ 0'n o& R

————
Stock Investment Beta

v A 4,50,000 1.75 ER.; R-[. -+ (&m,ﬁap

J B 1,25,000 1.25

Z C 75,000 0.5 6 1 (2 P

¢ D 1,50,000 0.9

Risk free rate = 6% A = S'f' GX"?S_ = ls'sf
Market Return = 12% | | | B: s_'_ G %]tzg = '3.5-“7q

(1
(1) Calculate expected return of portfolio. C = 6 + G X 0 g. = ?7&

1] Calculate beta of portioly™:




Example: 16

Suppose there are four stocks in a portfolio C(’L’M GL m ok 5.31‘(2
Stock Amount Beta @ /bO"{t ||0
5,00,000 1.2 \/ bl)

3,00,000 2

1,00,000 0.5 SI'bCk A‘lﬂt "kw B WTB

3,00,000 A 50000 |o-4E (12 |o-5
Calculate portfﬁho beta.

B |3606m (026D |2 (0§

Vet
B
T
>

(2) If we want to invest X 3,00,000 in risk free then calculate

beta of portfolio. —
c | 1000m |o-083 |05 [0-0Ulg
(3) We want to reduce beta of portfolio to 0.85 then how much
amount to be invested in risk {free assets. D 300% 0?5"0 0 8 o 20
(Page No0.36)
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Example: 16

Suppose there are four stocks in a portfolio CO‘IMOLUH ok Bf-‘-q

_ Stock :l;l;:;; @ / /bO’lt bl}l |O
3:00:000 . 6\3
’ &" shck [ Ant  |Weht [R  [WrR

1,00,000
3,00,000 0.8

A
>
g-=©
\_K/Calculate pnrtfnlm beta.

[f we want to 000 1nthen calculate
beta of Urtfnlm
We want to reduce beta of portfolio to 0.85 then how much
amount to be invested in risk free assets.
-B (Page No0.36)
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2 - 1433}0’0_—]420m= 5‘526513
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1

Tt BT | 0-85
Bp = (BA"‘*(‘JA)T(BB]KUOB) \-db‘ = = —
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Example: 17

Suppose there are three stocks in a portfolio.

Stock Amount Beta

A v 8,00,000 1.5 o V
X

(1) Calculate|portfolio bete

(2) Suppose we want to replace security C with new securit}@

having beta 1.25 then calculate beta portfolio.
——

(3) Suppose we want to replace security C with new Jsemyrity
having lower beta so that beta of portfolio should bhe
calculate beta of new security.

(Page No.37)

® porTRoczo BETA

Bp = g t(ar)t(s%3)

1S
= 41933

@) -FOST#MIO BETA

g (smamad-Gmmrfoomn

|500 670
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Example: 18
Suppose there are three stocks in a portfolio.

Stock Amount Beta @ B.P
™

A v/ 2,00,000 e 2

B “ 2,00,000 v 138 é“mxl)f(2 6000 K|'8'¢9

C ' 1.00,000 0.9 gf == + (.l 3
(1) Calculate —__ﬂfm:_)__

(2) Suppose we want to increase beta to 1.90 then how much 5o.bm
amount should be invested or borrowed at risk free rate. ..l. ? 0

(Page N
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Question: 16

A Portfolio Manager (PM} has the following four stocks in his
portfolio:

No. of Market
Shares Price per
Share (X)
S50

VvASL 10,000 0.9
v CSL 5,000 20 1.0
v SML 8,000 25 1.5

A PL 2,000 200 1.2

CompHte the following: O

ﬂ' Portfolio beta!
w” ) /O |
v, e ma—— =TT w uch risk free

--""‘\
Mf th.seeks to increase the beta nw much risk

free investment should he bring in?

(Study Material & PM)
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Question: 26
Mr. FedUp wants to imnvest an amount of Emd had

approached his Portfolio Manager. The Portiolio Manager had
advised Mr. FedUp to invest in the following manner:

Security Moderate Bef;;r Good | Very |Best
Good

Amount (in % Lakhs) 60 §80) 100 120 160
Beta 0.5 ((1.00) 0.80 1.20 1.50

You are required to advise Mr. FedUp in regard to the following,
ER? usingsCapital Asset Pricing Methodology:

(1) Expected return on lthe Eurtfulia, if the Government
Securities are at 8% and the NIFTY 1s yielding 10%.

@. Advisability of replacing Security{'Bette?' wit

(Study Material & PM)
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Question: 27

Mr. Tempest has the following portfolio of four shares:

Name Beta | Investment
Lac.

Oxy Rin Ltd. 0.45 0.80

Boxed Ltd. 0.35 1.50

Square Ltd. 1.15 L4

Ellipse Ltd. 1.85 4.50
The risk free rate of return is 7% and the market rate of return is
14%.
Required.

(1) Determine the portfolio return.

(i) Calculate the portfolio Beta.
(RTP Novembe @
S

(Page No.47)



Question: 26
Mr. FedUp wants to invest an amount of ¥ 520 lakhs and had

approached his Portfolio Manager. The Portiolio Manager had
advised Mr. FedUp to invest in the following manner:

Security Moderate Guud Very |Best
— Good

Amount (in X Lakhs) 60 g 100 | 120 | 160

Beta 0.5 0.80 | 1.20 | 1.50

You are required to advise Mr. FedUp in regard to the following,
using Capital Asset Pricing Methodology:

(i) Expected return on the portfolio, if the Government
Securities are at 8% and the NIFTY is yielding 10%.

O ettt 4 Nily fove %m;m e
Bt 101 fone fhey will proviT
me JTETWA So R ac {'M with
N;#Y il &e No diflwunce



Question: 31

M/s. Siri Ltd. Has a surplus amount of X 3 crores to invest and
has shortlisted the following equity shares: l

Beh ok fJMt lio

Company | Beta
S Ltd. 1.6 /.
K Ltd. 1 2“,’ m Amt' N’ |3h R
P Ltd. 03 |60 /
D Ltd. 2
C Ltd. 0.6 |90/
Required:

(i) If M/s. Siri Ltd. invests an‘eaual amuunl in all securities,
what is the‘ beta of the portfolio?

(1) If M/s,_Qile=dd. invests 15% of its investment in S Ltd., 15%
in P Ltd., 10% in C Ltd. and the balance in equal amount in
the other two securities, what is the beta of the portfolio?

(111) If the expected return of market portfolio at a beta

factor of 1.0, what will be the portiolios expéeCted return in

both the situations given above?

(iv) If the Company changes its policy to invest in any 3
securities with a minimum of 20% in each of these 3
securities to diversify risk, you are requested to gﬂvi se the
company to have a right mix of securities to maximize the
return in the following two scenarios and also calculate the

E}{EECtEd return:
(1) Bull Phase: Expected Market returns 10% S.f
- ®

(2) Bear Phase: Expected Market returns@
e

am Nov - 20'22]
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Sfick | AmE | weight| Reta | WwxR

S 45 |o-It ' 6
k clO 0-30 L

f (45 |ols [-o0-30
D [90 [0-30 2

c |30 0-10 |8-60 RY ﬁﬁ*ﬂ’ﬁﬂé’r
5= BT | TUYOT
;

@ _Expected Reur of porthlio '
g = U6

Sffuab‘m T ERp- 12x01
giabom 1 ERp = 12x 1SS = 18-867(

G R fnaé &
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ﬂestinn: 32 \\
Mr. A is havingc Eakh share} of K Ltd. The beta of the company
1S 1.4OJ
(e —’—\
Mr. B a‘finanr:ial advisor has suggested having the following

m{:linz

S

SN | %a | 3%

- O 1.40 15000':. BP - ng "0‘@1’(0?5%0 |0)
Market Return is 12% ~ -r (o .l-lox 0.3b)+(|-.-|°7‘ O'ED)
Risk free rate 1s 8%

You. Are required to [calculatd the following for the present

investment and suggested portfolio:
e — ———

What is the expected return based on CAPM a-n_d Iso

ylf the market goes upby 2.5%. =
RM : -r 2- .

_Aﬂ’lf the market goes down by 2.5%.

4 [f the market is giving a negative return o @
L

1S more

@ I[f the probability of market givingWnegative rg
please advise Mr. A whether to continue the holdings of M/s.
K Ltd. or to buy the portfolio as per the suggestion of Mr. B.

If so, why?
(RTP: May- 2022)

(Page No.54)



O® 9§ Morket goes o gﬁ 25% [12426)= [4s P

Faq BR = 8+ (145-8)l40 = 17.1%
%)ﬂhtkb‘io ER = 8+ (l4¢- 8) |'0\6 = 14-60%b

® 3} Mot ?s Jaon by 257 (12-2-57) = 578

KG’“ EK - 8+ (35—'8) |-4o = l0.|°¢/°
Mff"’(iﬁ ER = & (95-' &) |-0l$ ~ 3.520/6

(@ 8} et fian 1+ ~2377
:kq* - §t (-2-5“-?'.40 < _6_1:"_%
fmt&:h’o - 8t (“?*S'- g) |



(@) 9t is betox 1o ‘avest 1o fmt&oho
g?ccwfe Bp is Less fhon feh /'y

X H.



ing 1 lakh shares of M /s. Kannyaka Ltd. The beta of

the company is 1.40.

Mr. Y a financial advisor has suggested for having the following

portfolio:
Security Beta % Holding
S 1.20 10
K 0.75 10
P 0.40 30
D 1.40 S0
100

Market Return 1s 12%

Risk free rate is 8%

Required:

(1)

(11)

CALCULATE the expected return based on CAPM for the
present investment and suggested portfolio and also in the
following scenarios

(1) If the market return goes up by 2.5%.
(2) If the market return goes down by 2.5%

ADVISE Mr. X whether to continue the holdings of M/s.

Kannyaka Ltd. or to buy the portfolio as per the suggestion
of Mr. Y if the probability of market giving negative return is

IMOre.
(MTP: Q02

(Page No.56)



Question: 25

A company has a choice of investments between several different

ed

#p oriented mutual funds. The company has an amount of X

@ to invest. The details of the mutual funds are as follows:

Mutual Fund Beta

1.6 (|0
1.0 o
0.9
2.0
0.6

Do Ww>

Required:

(1)

(11)

(iii)

If the company invests 20% of its investment inleacq of the
first two mutual funds and an equal amount in the mutual
funds C, D and E, what is the beta of the portfolio?

If the company invests 15% of its investment in C, 15% in A,
10% in E and the balance in equal amount in the other two
mutual funds, what is the beta of the portfolio?

[f the expected return of market portfolio 1s 12% at a beta
factor of 1.0, what will be the portfolios expected return in
both the situations given above?

(Study Material & PM)

(Page No.44)
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Question : 30
A company has a choice of investments between several different
equity oriented mutual funds. The company has an amount of X

100 lakhs to invest. The details of the mutual funds are as

follows:
Mutual Funds A B C D E
Beta 1.5 1.0 0.8 2.0 0.7
PLAN 1

If the company invests 20% of its investments in each of the first
two mutual funds (A and B) and balance in equal amounts in the
mutual funds C, D and E, what is the beta of the portfolio?

PLAN 11

If the company invests 15% of its investment in C, 15% in A,
10% in E and the balance in equal amounts in the other two
mutual funds, what is the beta of the portfolio?

If the expected return of market portfolio is 12% at a beta factor
of 1.0, what will be the expected return on' the portfolio in both

the plans given above?
[ExamEuly - 2021]\
———————————
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J
Question: 20 ( -
Your client is holding the following securities:
Particulars of Cost |Dividends | Market BETA
Securities X X Price
f

~/Equity shares:

JCo. X 8,000 800 | 8,200 0.8
Co. Y 10,000 800 | 10,500 0.7
Co. Z 16,000 800 | 22,000 0.5
PSU Bonds 34,000 3,400 | 32,300 0.2

Assuming a Risk-free rate of 15%, calculate:

— Expected rate of return in each, using the Capital Asset

Pricing Model (CAPM).

-

— Simple Average return of the portfolio.

@
A\Mf?l et =

(Study Material & PM)

Fé]i‘,%@&?)?l-

él[ﬁﬁg‘? ﬁo:h;_wn ol [WT

15-70 T18-62 £ 1$4Y4 /518
({
Jg-qs%

Expecteq Refurn l CAPM]

ER = Rf + (Rm-RF)B

xyd = 15 (c88~-15)0-& = |S-F670
yuq = 16+ (1588 1T 6F = |5-627A4
zud < 1S+ (I588-15)0-C = IS447s
psuBnd= 154 (15-88-15)0-2—= |5 1B

IN-N- L C qu‘l_,'tm 0 R{V\
Cost.  Diviled  MP
x 80 860 8200

Y [0 §60 (0§D
Z 1660 8§00 2207

R 34[000 3400 323(0
60 5800 {30M0

Rf‘] < M@m = K.gg?{

6 8070




Your client is holding the following securities:

Particulars of Cost |Dividends/Interest | Market | Beta

Securities X X Price
X
Equity Shares:
Gold Ltd. 10,000 1,725 9,800| 0.6
Silver Ltd. 15,000 1,000| 16,200| 0.8
Bronze Ltd. 14,000 700| 20,000| 0.6
GOI Bonds 36,000 3,600 | 34,500/ 0.01

Average return of the portfolio is 15.7%, calculate:

(i Expected rate of return in each, using the Capital Asset
Pricing Model (CAPM).

(Study Material & PM)
(Page No0.38)




Question: 22
A holds the following portfolio:

Share/Bond | Beta | Initial | Dividends | Market Price at

Price X end of Year X
E
Epsilon Ltd. | 0.8 25 2 50
Sigma Ltd. 0.7 35 2 60
Omega Ltd. 0.5 45 2 135
GOI Bonds | 0.01| 1,000 140 1,005

e

Calculate:

(1) The expecte'd rate of return of each security using Capital
Asset Pricing Method (CAPM)

(i) The average return of his portfolio.

Risk-free return i1s 14%:

(Study Material & PM)
(Page No.40)




Question: 29
Mr. X holds the following portfolio:

Securities Cost |Dividends| Market | Beta
(X) (%) Price (X)
Equity shares:
A Ltd. 16,000 1,600 16,400 0.9
B Ltd. 20,000 1,600 21,000( 0.8
C Ltd. 32,000 1,600 44,000| 0.6
PSU Bonds 68,000 6,800, 64,600f 0.4

The risk-free rate of return is 12%.

Calculate the following:

(i) The expected rate of return on his portfolio using Capital
Asset Pricing Model (CAPM).

(i) The average return on his portfolio. (Calculate up to two
decimal points
(Exam November — 2019)

'| (Page No0.49)



Question: 21

Your client 1s holding the following securities:

Particulars of Dividends/Interest Beta
Securities X
Equity Shares:
Gold Ltd. 1,725 0.8
E Silver Ltd. 1,000 O.B‘b"l
Rr < R'f T ERm "R‘F) B Bronze Ltd. 700 0.6\
P 3,600 0.01¢

/\ GOI Bonds : Z
,g 'F R-F ‘I' (,G w)r Average return of the portfolio is 15.7%, calculate:

() Expected rate of return in each, using the Capital Asset
Pricing Model (CAPM).

+ 8 3 S - 0 &‘F’ (i) Elsk free rate of retura ot Mt i PO
I 5 (Page No.38)
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Question: 3 M

Following is the TIormation Teretest0 return on shares of three
different companies:

. Years @ v .
2018 70 5%
2019 6% 8% 7%

C AP 2020 13% 14% 15%
") 2021 7% 9% A1%
S K4' L K Required: d 6’ﬁ_ @ Q R
@ Construct Gﬁ.aximum number of pﬂrtfﬂlin)and lits retura if

RF"’ N each portfolio sists Ol-qnly two Company's shares in

proportion of \05% and J and suggest which portfolio

@ e l. q provides highest return.
uﬁf‘ Calculate |portfolio retu* and}betal (B), if Mr. X invests X

essssesses—
65,000 in A Ltd. having beta () of 0.45; X 20,000 in B Ltd.
@ @Q Q having beta (B) of 1.15 and % 15,000 in C Ltd. having beta (p)

(Exam Nov - 2022)
e —

(Page No0.58)
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Question: 36

Assuming that shares of ABC Ltd. and XYZ Ltd. are correctly
————

Ericed jaccording to Capital Asset Pricing Model. The expected
return from and Beta of these shares are as follows:

ABC | 1.2 19.8% KP

Share | Beta Expected return RF
XYZ | 0.9 17.1% Ke | RN

You are requiLe derive Security Market Line.
study Material & PM)
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Question: 17 @

The following information are available with respect of Krishna
Ltd.

Year | Krishna Dividend | Average | Dividend n
Ltd. per Market | Yield on
Average | Share Index Govt.
share Bonds
price
2 2
w2013 203 22 2130 S% ]/ 6%
2014 310 25 2350 6% 6%
2015 330 30 2580 7% 6%
Compute peta valuglof the Krishna Ltd. at the en 2015 and
state your observation m
(Study Material & PM)
(Page No.31)
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Question: 18

You have been given the following information about Sweccha
Ltd.

Sweccha Market
Ltd.

Year | Average |Dividend | Average Dividend| Return

Share per Index | Yield% | on Govt.

Price Share Bond%
2017 460 30 4060 S Sy
2018 497 33 4320 6.5 5.5
2019 523 38 4592 4.5 )
2020 556 43 4780 6 5.5
2021 589 50 4968 9.9 5.5

(i Compute the Beta value of the company as at the end of year
2021.

(i) What isjyour Observation?
(Exam May - 2022)
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Question: 12 @ Co,'wa]jgn d&- R.P

The following information is available in respect of Security X

Equilibrium Return 15%
Market Return 15%
7% Treasury Bond Trading at $140
Covariance of Market Return and Security Return | 225%
Coefficient of Correlation 0.75

You are required to determine the Standard Deviation of Market
Return and Security Return.






Question: 23

XYZ Ltd. has substantial cash flow and until the surplus funds
are utilized to meet the future capital expenditure, likely to
happen after several months, are invested in a portfoliE‘of short-
term equity investments, details for which are given below:

Investment| No. of | Beta | Market | Expected
shares price per | dividend
share X yield
[ 60,000 | 1.16 4.29 19.50%
1 80,000 | 2.28 2.92 24.00%
[11 1,00,000| 0.90 2.17 17.50%
Y 1,25,000| 1.50 3.17 26.00%

The current market return is 19% and the risk free rate is 11%.

Required to:

(1) Calculate the risk of XYZ’s short-term investment portfolio
relative to that of the market;

(i) Whether XYZ should change the composition of its portfolio.
1 (Study Material & PM)
(Page No.41)
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Question: 28

K Ltd. has invested

in a portfolio of short-term equity

investments. You are required to calculate the risk of K Ltd.’s
short-term investment portfolio relative to that of the market
from the information given below:

Investment A B C D
No. of shares 1,20,000(1,60,000|2,00,0002,50,000
Market price per share (X) 8.58 5.84 4.34 6.28
Beta 2.32 4.56 1.80 3.00
Expected Dividend Yield 9.50% | 14.00% 7.50%| 16.00%

The current market return i1s 20% and the risk free return is

10%.

Advise whether K Ltd. should change the composition of its
portfolio. If yes, then how. Note: Make calculations upto 4

decimal poi

(RTP May — 2021)

N
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Question: 24
Suppose one of your HNI clients is holding the following portfolio
as per his risk appetite:

Particulars Securities
Equity Shares:
G Ltd. 1,000
S Ltd. 1,000
B Ltd. 500
PSU Bonds 20,000

The other &lata related to each of these securities is as follows:

Cost |Dividends/Interest| Market | Beta
Price
X X X
10,000 1,725 9,800 0.6
15,000 1,000 16,200 0.8
28,000 1,400 28,300 0.6
1,800 180 1,725| 0.10

Your client is interested in investing some more funds in Bonds
issued by GOIL.

(1) Estimate the minimum rate of return that your client would
expect from these Bonds keeping in view his risk appetite
and assuming Market Return as 15.70%.

(2) Analyze whether this portfolio has out-performed the market
or not assuming Risk Free Rate of Return as 7%.

(MTP: Nov - 2021)
(Page No0.43)
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Example: 21
Dividend per share @

Risk free rate = 6%

Market rate of return = 12%

S.D. of Security = 10%
E.D. of Market = 8%

Correlation between security & market = 0.9

Growth rate = 5%

Current market price of share = X 70
\,[‘h/CalculatE theoretical price of share

Mether share should be purchased or not?



Example: 22

A Ltd. B Ltd.
( D1 j 8 8
_\)}rﬂwth Rate 5% S%
Beta 1.25 1.75
Actual price X125 X 40l

Risk free rate = 5%
Market rate of return = 12%

Whether we should buy share of A Ltd. & B Ltd. or not?
(Page No. 63)
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Question: 37
An investor 1is

Iy
L
¥
| F ilLe
-

1,000 shares of Fatlass
%Presently the rate of dividend beingp@} by the
X 2 per share and the share is being sold at(X 25 per shar
in the market. However, several factors are likely to be

changed during the course of the year as indicated below:

Existing Revised
Risk free rate 12% 10%
Market risk premium 6% 4%
Beta value 1.4 1.25
Expected growth rate S% o~ 9%

In view of the above tactors whether the investor should b\ﬁ,
hold or sell the shares? And why?

R e ————————

(Study Material & PM)
(Page No. 63)
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Question: 38

An 1nvestor 1s holding 5,000 shares of X Ltd. Current year
dividend rate 1s X 3/ share. Market price of the share 1s X 40
each. The investor 1s concerned about several factors which
are likely to change during the next financial year as

indicated below:

Current Next

Year Year
Dividend paid/anticipated per share (X) 3 2.5
Risk free rate 12% 10%
Market Risk Premium S% 4%
Beta Value 1.3 1.4
Expected growth 9% 7%

In view of the above, advise whether the investor shou

buy, hold or sell the shares.

(Study Material & PM)
(Page No. 64)
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Example: 23
Standard deviation of market

Standard deviation of stock = 16%
r~

Standard deviation of error term = 4% d"’é = l’ 7

——
Calculat of stock.

(Page No. 66)




Example: 24
Beta of stock =1.5

Standard deviation of market= 10%

Standard deviation of stock = 18% U R

Calculate ‘Standard deviation\ of .
B s ———————

(Page No. 66)



Example: 25
Correlation between stock & market

Standard deviation of stock = 20%

Calculate standard deviation of error term.

(Page No. 66)
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Example: 26

Stock /}_BR Beta Specific Risk TR gbckb‘
A 18% 1.2 5% 1858 )
B 10% 0.5 4% ? SR = ‘3:.:-;{3—
C ? o) 14 7% 22% = 12* 22194
Calculate lue. Assuming CAPM holding good. = 319.5 0'
! ! : ‘ ! (Page No. 67)] TR = 319-93 + 52
S'l'ﬂn M* o\lld'lmﬁ MK - 3L|L|Sﬁ (%?)
Stock € Q- R, |k = 185¢%
SR = TR~ _
= 484 -49 = 435 Stocky B
SR = % i cg - &1
485 40" om>
2_ 938 _ 99
OT“ = , qG - ??



Example: 27

Stock X Stock Y
Standard deviation 20% 25%
Beta 1.5 1.75

Standard deviation of market = 10%
(1) Calculate TR, SR and UR of each stock.
(2) Calculate correlation between
(a) X and market
(b) Y and market
(3) If we invest 80% in X and 20% Y then calculate.

(a) Beta of portfolio

(b) TR, SR & UR of portfolio UQ)( _ [/w - 225‘ j_‘:fS' (%z) f)
. . 6
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Question: 43 . BE"Q Ok E”t BD‘]O
A has portiolio having following features:

Security B gand Weight ‘BF - (l’ AO0K 0 2 5)1- (|. lgxo .39
rro.
vL 1.60 7 0.25% 1 (I"-|07<0-25)+( |X0-9-0>
vM 1.15 11 0.30
/N 1.40 3 0.25V = §.295
vK 1.00 9 0.20 .« 3R
You are required to find out the.ﬁsk of the portiolio if the 92 9 _
standard deviation of the market index (om) 1s 18%. SRF = BP am 9 5
- y 2
(Study Material & PM) - Q 99 5) 68) - 54338 @b)
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Question — 42

A study by a Mutual fund has revealed the following data @ CO’OA’QLO’" Ob §e]r'q

in respect of three securities:

Security o (%) Correlation with Index, Pm = S
A 20 0.60

B 18 0.95

C 12 0.75 BA =
The standard deviation of market portfolio (BSE Sensex) is

observed to be 15%. BE =

(1) What 1s the sensitivity of returns of each stock with B
respect to the market? C

(i) What are the covariance’s among the various stocks? @M_—_____

(1) What would be the risk of portfolio consisting of all the

three stocks equally? COVAB
(iv) What is the beta of the portfolio consisting of equal COV 'A R = 0- &x ’ ‘4’ X 1S 2

investment in each stock?

(v) What 1s the total, systematic and unsystematic risk of CGV A- C =
the portfolio in (iv)? COVBC - [ {‘{x O GO)'\ ’g

(Study Material & PM)
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estion: 46 4@ ! l : .
"/f:;lowing are risk and return g T ® 6'\'0\0 QVIGL dn

Stock Expected Bet
returns (%)

14 0.8
B 18 « 1\l.2

>

SR = PQ'GTnQ—
SRA = O 3 685 = 4oo (42)
SRg = 2 635 = 900 (4%2)

The market index has a Standard Deviation (SD) of 25% and risk

free rate on Treasury Bills 1s 6%.

You are required to calculate : TR SR + UP\
=
\_)H/The standard deviation of expected returns on A and B. TR& ‘100 1' 3 5 |63$ (%)

J Suppose a portfolio is to be constructed with the proportions ’ LGQS Lfo 3\ %

of 25%, 40% and 35% 1n stock A, B and Treasury Bills

ot o) g (
respectively, what would be the]expected return) standard FrRB 3&) 1' ZIS 2925 % )
| deviation of expected return of the portfolio? o__e 2 8 9 $_ - q 0 8 /

(Exam November — 2019)
“
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Question : 45 .
Following are the details of a portfolio consisting of three shares: ® Eo’lhbgl 10 EéefQ

Share | Portfolio |Beta Expected Total
Weight Return in % | Variance - . . .
A 0.20 | 0.40 14 0.015 BF = (0-4x0 ‘1)+(° SXO :)"'(0'3“ l9
B 0.50 |0.50 15 0.025
C 0.30 |1.10 21 0.100 = 0-66C

Standard Deviation of Market Portfolio Returns = 10%
You are given the following additional data:
Covariance (A, B) = 0.030

Covariance (A, C) = 0.020

Covariance (B, C) = 0.040

Calculate the following:

(1) The Portfolio Beta

(11) Residual variance of each of the three shares

(111) Portfolio varian_ce using Sharpe Index Mﬂdeg U R A - 0, o 15 - 0 OO.[ G - o- 013 l'
- 0.025 - 0-0025 = 0-0225
o-la® - 0-012| = 0-08%3

(iv) Portfolio variance (on the basis of modern portfolio theory

given by Markowitz) UR 8

(MTP: Aug — 2018) URC =
(Page No.76)
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uestion: 44
Following are the details of a portfolio consisting of 3 shares:

Shares |Portfolio| Beta | Expected Total
Weight Return (%) | Variance
X Ltd. 0.3 0.50 15 0.020
Y Ltd. 0.5 0.60 16 0.010
“‘p Z Ltd. 0.2 1.20 20 0.120

CQY Standard Deviation of Market Portfolio Return o m
You are required to calculate the following:
(1) The Portfolio Beta.

(11) Residual Yariance of each of the three shares.

(111) Portfolio Variance usingjSharpe Index Model.
— ==

am May - 2019
(Page No.74)



Question: 40
Mr. Abhishek is interested in investing X 2,00,000 for which he is
considering following three alternatives:

(1) Invest X 2,00,000 in Mutual Fund X (MFX)
(11) Invest X 2,00,000 in Mutual Fund Y (MFY)

(11 Invest X 1,20,000 in Mutual Fund X (MFX) and X 80,000 in
Mutual Fund Y (MFY)

Average annual return earned by MFX and MFY is 15% and 14%?
respectively. Risk free rate of return is 10% and market rate of
return is 12%.

Covariance of returns of MFX, MFY and market portfolio Mix are
as follow:

MFX MFY Mix
MFX 4.800 4.300 3.370
MFY 4.300 4.250 2.800
Mix 3.370 2.800 3.100

You are required to calculate:
(1 Variance of return from MFX, MFY and market return,

(11) Portiolio return, beta, portiolio variance and portiolio
standard deviation,

(i1 Expected return, systematic risk and unsystematic risk; and

(iv) Sharpe ratio, Treynor ratio and Alpha of MFX, MFY and
Portfolio Mix

(Study Material & PM)
(Page No.67)
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Example: 28

Risk free rate = 6% P
Factors Risk Factor
Premium
Inflation 3% 1.5
Interest Rate 2% 0.9
Currency Rate 4% 1.2

Calculate expected return as per APT.

(Page No0.89)



Example: 29
Risk free rate = 6%

Factors Factor 1 Factor 2
Risk Premium 5% 3%
Factor Sensitivity Bl B2
A 1.2 0.9
B 0.5 1.5

(1) Calculate expected return of each stock using, APT.

(11) Suppose we invest 80% 1n stock A and 20% 1n stock B then
calculate factor sensitivity 1 of portfolio.

(ii) Suppose we want to create a portfolio so that factor

sensitivity 2 of portfolio should be 1. How much amount
should be invested in A & B.

@ C(EPCMNHM OE H?lghfs\ (Page No.90)
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Question: 54
Mr. Nirmal kumar has categorized all the available stock in the market
into the following types:

(i) Small cap growth stocks
(11) Small cap value stocks
(111) Large cap growth stocks
(1v) Large cap value stocks

Mr. Nirmal Kumar also estimated the weights of the above categories of
stocks in the market index. Further, the sensitivity of returns on these
categories of stocks to the three important factor are estimated to be:

Category of Stocks Weight in | Factor | Factor II | Factor III
the Market |I (Beta) (Book (Inflation)
Index Price)
Small cap growth 25% 0.80 1.39 1.35
Small cap value 10% 0.90 0.75 1.25
Large cap growth 50% 1.165 2.75 8.65
Large cap value 15% 0.85 2.05 6.73
Risk Premium 6.85% -3.5% 0.65%

The rate of return on treasury bonds 1s 4.5%
Required:

(a) Using Arbitrage Pricing Theory, determine the expected return on
the market index.

(b) Using Capital Asset Pricing Model (CAPM), determine the expected
return on the market index.

(c) Mr. Nirmal Kumar wants to construct a portfolio constituting only
the ‘small cap value’ and ‘large cap growth’ stocks. If the target beta
for the desired portfolio 1s 1, determine the composition of his
portfolio.

(Study Material & PM)
(Page No.91)
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Example: 30

B1 B2
;) 1.2 0.9
B 0.5 1.5
ER (A) = 14.7%
ER (B) = 13%
R = 6%

Calculate factor risk premium 1 and factor risk premium 2.
O — Saassss—

(Page No.9t
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Question : 55
Mr. Kapoor owns a portfolio with the following characteristics: @ Q'(AJQ‘I dn % P
S
Security | Security | Risk Free OL Is\
X Y Security Colaloljom ok [el9
0.75 1.50 0

Factor 1 sensitivity

Factor 2 sensitivity 0.60 1.10 0 n A.u - 100 60D
Expected Return 15% 20% 10% 00) nd q
It 1s assumed that security returns are generated by a two factor 1360’){ lgel.( ( Y) 5 0070
model. i

enl tn 1500006
(1) If Mr. Kapoor has X 1,00,000 to invest and sells short X TnWIM t ( ) ;

50,000 of security Y and purchases X 1,50,000 of securit;X, Q'_ Jsom
what 1s the sensitivity of Mr. Kapoor's portfolio to the two w 2 =

factors? -\I ,f OOW"

(11) If Mr. Kapoor borrows X 1,00,000 at the risk free rate and
invests the amount he borrows along with the original
amount of X 1,000,000 in security X and Y in the same
proportion as described in part (i), what 1s the sensitivity of
the portfolio to the two factors?

= J-50

(i11) What is the expected return premium of factor 2?

(Study Material & PM)
(Page N0.90)
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\)ﬁestion: 93

Mr. Tamarind intends to invest in equity shares of a
company the value of which depends upon various
parameters as mentioned below:

oo B | e vamemo| [Tl | F00 | 550 IS IFS |26y
GNP 1.20 7.70 7.70 I | _ ]
Inflation 1.75 5.50 7.00 Tnkt 300 |F48 (12T 1-30 ]1-63%

Interest rate 1.30 7.75 9.00
Stock market index 1.70 10.00 12.00 8|'°Ck 12.00 | 1000 | 2 |‘:f0 3",0

Industrial production 1.00 7.00 7.50
. . — |Zr | 150 | F0 [0 100 jo-c1
If the risk free rate of interest be_9.25%, how much is the
return of the share under Arbitrage Pricing Theory? ’
I ’ 0
(Study Material & PM) 'EIS k P B \y
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Question: 56

Ms. Sunidhi 1s working with an MNC at Mumbai. She is
well versant with the portfolio management techniques and
wants to test one of the techniques on an equity fund she
has constructed and compare the gains and losses from
the technique with those from a passive buy and hold
strategy. The fund consists of equities only and the ending
NAVs of the fund he constructed for the last 10 months are
given below:

Month Ending NAV Month Ending NAV
(X/unit) (X/unit)
December 2008 40.00 May 2009 37.00
January 2009 25.00 June 2009 42.00
February 2009  36.00 July 2009 43.00
March 2009 32.00 August 2009 50.00
April 2009 38.00 September 2009 52.00

Assume Sunidhi had invested a notional amount of X 2
lakhs equally in the equity fund and a conservative
portfolio (of bonds) in the beginning of December 2008 and
the total portfolio was being rebalanced each time the NAV
of the fund increased or decreased by 15%.

You are required to determine the value of the portfolio for
each level of NAV following the Constant Ratio Plan.

(Study Material & PM)
(Page No. 95)
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developed on KIFS Equity Fund and compare the gains anc
losses from the technique with those from a passive buy
and hold strategy.

The KIFS Equity Fund consists of(equities Dl‘ll; and the
ending 'NAVs of the fund she constructed ior the last 10

months are given below:

Month Ending NAV (X/unit)

Jan-22 100 E &
Feb-22 78 "(
Mar-22 92
Apr-22 86 5
May-22 102 ; 0'0 m
Jun-22 98
Jul-22 100
Aug-22 102
Sep-22 118
Oct-22 120 B

Assume

(1 Sreenidhi had invested a notional amount of R 5 lakhs zw

equally in the equity fund and a conservative portfolio
(of bonds) in the beginning of January 2022 and the
total portfolio was being rebalanced each time the NAV
of the fund Jj reased by 15% compared to
the NAV ofprevious month. TE—




(i1) There ' * earned from the conservative

pﬂrtfnlm durlng the period
(i11) There i no taxatm and entry/exit lo

You are required to determine:

(i Value of the portfolio for each level of NAV following the
Constant Ratio Plan.

(i) Whether there are any errors in the technique
developed by Sreenidhi? If so briefly explad

Exam Nov - 2022)
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Question: 58 A—

Indira has a fund of X 3 lacs which she wants to invest in

S
share market with rebalancing target after every 10 days to

start with a period of one month from now. The present
NIFTY 1 The minimum NIFTY within a month can at
most be 4793.4. She wants to know as to how she should

# ® w - &
rebalance her portfolio under the following situations,

according to the theory of Constant Proportion Portfolio

Insurance Policy, using "2" as t tiplier:
S v
—> (1) Immediately to start with 532C

(2) 10 days later-being the 1gt day of rebalancirg N'Y
falls to 5122.96. SIF13

(3) 10 days further from the above date if the NIFTY
touches 5539.04.

For the sake of simplicity, assume that \the value of her
equity component will change in tandem with that of the

Egﬁﬁd the risk free securities in which she is going to

invest will have no Beta.

(Practice Manual)
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Question: 62
Ramgsh .W:ants t? invest %'n .st:.ack markf-‘.:t: He has got the C§+QP'L COJM(T'-Q —l—)'le nmg

following information about individual securities: Se

Security Expected Return Beta 6%, ﬂOL O iﬂ\f %HK QUS h@St
o4

A 15 1.5 40

B 12 2 20
C 10 2.5 30
D 09 1 10
E 08 1.2 20
\ F 14 1.5 30

Market index variance is 10 percent and the risk free rate of

return 1s 7%. What should be the,optimum portfolia assuming
e ————————

no short sales?
(Study Material & PM)
(Page No.105)
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Question - 48 “ Lo [Cw mw‘-‘

A Ltd. has an expected return of 22% and Standard deviation of
40%. B Ltd. has an expected return of 24% and Standard
deviation of 38%. A Ltd. has a beta of 9_._86 and B Ltd. a beta of
1.24. The correlation coefficient between the return of A Ltd. and
B Ltd. is 0.72. The Standard deviation of the market return is
20%. Suggest:

(1)
(11)

(i)

(iv)

[s investing in B Ltd. better than investing in A Ltd.?

If you invest 30% in B Ltd. and 70% in A Ltd., what is your
expected rate of return and portfolio Standard deviation?

What 1s the market portfolios expected rate of return and
how much is the risk-free rate?

What is the beta of Portfolio if A Ltd.’s weight is 70% and B
Ltd.’s weight is 30%?

(Study Material & PM)
(Page No.80)



Question : 51

An 1nvestor holds two stocks A and B. An analyst prepared ex-
ante probability distribution for the possible economic scenarios F X a— (‘P
and the conditional returns for two stocks and the market index

as shown below: Hw
Economic | Probability Conditional Returns % W (_OY\'
Scenario A B Market C C
Growth 0.40 25 20 18
Stagnation 0.30 10 15 13
Recession 0.30 -9 -8 -3

The risk free rate during the next year is expected to be around
11%. Determine whether the investor should liquidate his *
holdings in stocks A and B or on the contrary make fresh

investments in them. CAPM assumptions are holding true.

(Study Material & PM,
(Page No0.86)
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Question: 11 Co CoOne

AWOS known to be on @ Cq [ O‘*-/ajffm (g lA’EI_? /Z-h?

GE nimum variance sef for a population of three
securities A, B and C having below mentioned

welghts: O_,;-‘"
WA WB wC
ok on 5om>] |1I500 | 2670
Portfolio X 0.30 0.40 0.30 ol
Portiolio Y 0.20 0.50 0.30
MTFOL‘J’OY (3m)| Goo 900
It is supposed that there are (no restrictions on

Short saleq 2100 |350D

(1) What would be the weight for each stock for
a portiolio constructed by investing X 5,000 l’pQ | 3hl" @ 0. 26@5' 0. ('ISG:FS O 30
inportfolio X and X 3,000 in portfolio Y?.

pose the investor invests X 4,000 out of X
8,000 1in security A. How he will allocate the

balance between security B and C to ensure
that his portfolio is Gw
(Study Material & PM)
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QOuestion: 06 (b)
An Investor is proposing to invest X 10,000/- in
two Portfolios A and B i1n the ratio of 3:2. The

Portiolios have three securities each with
following weights:

Wx Wy Wz
Portfolio A 0.30 0.25 0.45
Portiolio B 0.20 0.45 0.35

You are required to

(1) Calculate the weight of each stock.

2-
(11) Calculate the amount allocated to d and @ 1if

half of the funds are allocated to security X.

(Exam May - 2023)
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Question: 13

The rates of return on the security of Company
X and market portfolio for 10 periods are given
below:

Period | Return of Security | Return on market
X (%) portfolio (%)

| 20 22
2 22 20
3 25 18
4 21 16
5 18 20
6 -5 8

7 17 -6
8 19 5

9 -1 6

10 20 11

(1) What is the betg of Security X?
(11) What is the characteristic line for Security X?

(Study Material & PM)
(Page No.24)
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uestion: 41
The returns on @ and market portiolio for

a period of 6 years are as follows:

Year | Return on A (%) Return on market
portfolio (%)

] 12 8

2 15 12
3 11 11
- 2 -4
5 10 9.5
6 -12 -2

You are required to determine:

(1) Characteristic line for stock A

(1)The systematic and unsystematic risk of
—’_-
stock A.

(Study Material & PM)
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Question: 35
Expected returns on two stocks for particular

market returns are &wen in }he following tablmg

Aggressive Defenswe

@ LV
f
OS

You are requ1re Bfalculate

\J The Betas of theltwo stocka
.Qbﬁxecfea returndof each stock, if the market
r > 7% or 25%.

%)The Security Market Line (SML), if the risk
free rate 1s 7.57% ;n aarket return 1is

259 RM 2 16 %

(Study Material & PM)
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Qiven

wz=0-3
UJT = -O'T'l' 2 %0-3
- =61

Wz= 1-03-(-1)
- 0-80



